
0 2.8

U
C

C
G
C
A
A
A
U

C
U

U U U C C U U
G

C
U

G
CAU

CUACAUGCU
U

A
G
C

C
AA

C
U
U

C A C
U

A
AU

A
UCUCACCU

CAC
A

UAG
C

GCC
A

AG
UGGCAGGC

UC
U

A U
G C U UAG C C A G

U
C
CCAAUUA

A
U
C U A

C U U
C
A G G UCG A G A

CACC
C
C
UA

A
A
GU

A
G
U
U
C
C
C
U
G
CA

U
A
A

U G
A
C

G
U C C

A
G
U
CU

U
A
G
U

C
GG

C
A
G
GA
G
G
A
C
U
A

A
G

A
G
G
G

A

C

G
A

G
C

A
G

C
A A C U A G G C U G C

U A
U C G C

G
A A

A U U
A U C

G U CUG C G

U
ACGUGAC

CCA
G

AGU
AA

CA
CGA

CAU
GCAGCCUCAAGU

U
C

C
A
A
A
C
C
C

A
C

G
U

CGAAACCU


